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Using Netkit, implement the network shown in thgufie and describec;
below (you can use the following items as a chetkli

O Routers inAS20 use the RIP protocol.
[0 All peering LANs are announced in BGP.
O BGP routers in AS20 also announce the aggregate netwq

20.0.0.0/8. «= 9 Traffic 10 202.0.0/24 ||

== Traffic to 20.1.0.0/24

[0 BGP routers imS20 do not establish iBGP peerings.

O No routers announced.0.0.0/0 or apply customer-provide
policies.

O as10rl applies filterdgn such a way tavoid sending traffic toAS20
through linkC. [

Oas10rl, asllrl, as12rl, as13rl, andasl4rl prefersending | asion
traffic to 20.1.0.0/24 and 20.2.0.0/24 along the paths|
depicted in Figure 1.

Goals
« All routers must be able to reach any destinations.
e as10rl must reacS20’s networksL andM using the specified paths.
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Using Netkit, implement the network shown in thgufie and described below (you can use the followtgmgs as a checklist).

O Routers inAS10 use the RIP protocol. " e == (== N

[0 All peering LANs are announced in BGP. N ' "g‘

OBGP routers in AS10 also announce the aggregate netwq = \J
10.0.0.0/8. N S

O No routers annound&. 0.0.0/0 or apply customer-provider policies. ;;p{"'

O as100r1 applies filtersin such a way tavoid sending traffic toAS10 [~ = Lf - N
through links. P e | Blaeizoos] |

0 as200r1, as300rl, as400rl, andas500rl prefersending traffic | “ Q

to 10.1.0.0/24 and 10.2.0.0/24 along the paths depicted i[* -~
Figure 1.

Goals

« All routers must be able to reach any destinations.

e as100rl must reachAS10’s networksK and L using the specified
paths.
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Using Netkit, implement the network shown in thgufie and described below (you can use the frgllrg\n'mgs as a checklist).

O Routers inAS100 use the RIP protocol. =S 1;
[0 All peering LANs are announced in BGP. /:-, -
OBGP routers in AS100 also announce the aggregate netw( :

100.0.0.0/8.
O BGP routers ilmS100 do not establish iBGP peerings. :
O No routers annound&. 0.0.0/0 or apply customer-provider policies. |, W‘ ——
O as50r1l applies_filtersin such a way t@void sending traffic toAS100 i; (=<
through linksH andI. {
O as10rl, as20rl, as30rl, and as40rl prefer sending traffic to|
100.1.0.0/24 and 100.2.0.0/24 along the paths depicted i
Figure 1.

== Traffic to 100.1.0.0/24
== Traffic to 100.2.0.0/24

Goals

« All routers must be able to reach any destinations.

e as1l0rl must reachAS100’s networksL andM using the specified
paths.
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Using Netkit, implement the network shown in thgufie and described below (you can use the followtgmgs as a checklist).

[0 Routers inAS6 use the RIP protocol.

[0 All peering LANs are announced in BGP.

O BGP routers ilAS6 also announce the aggregate netwar@ 8.0/8.

O No routers annound&.0.0.0/0 or apply customer-provider policies.

[0 as1rl applies filtersn such a way tavoid sending traffic toAS6 through linkB.

Oas2rl, as3rl, as4rl, andas5rl prefersending traffic t06.1.0.0/24 and6.2.0.0/24 along the paths depicted in
Figure 1.

Goals
« All routers must be able to reach any destinations.
e aslrl must reactAS6’s networksk andL using the specified paths.




